17

:kg/ mg-TEQ/
0. 1. 0. 0.0 0. 1.
_ = _4-

. 0. 0. 0. 0.0 0. 0.

8. 8. 0. 0.0 0. 8.

33. 33. 0. 0.0 0. 33.

. 0. 0. 0. 0.0 0. 0.

6 0. 0. 0. 0.0 0. 0.
0. 0. 0. 0.0 0. 0.

48. 48. 0. 1,400.0 1,400. 1,448.

0. 0. 0. 0.0 0. 0.

e 0. 0. 0. 0.0 0. 0.




17

:ka/ mg-TEQ/
215.0 0.0 0.0 0.0 215.0 0.0 0.0 0.0 215.0
0.0 2.9 0.0 0.0 2.9 0.0 0.0 0.0 2.9
37.9 0.0 0.0 0.0 37.9 0.0 0.0 0.0 37.9
0.0 1.1 0.0 0.0 1.1 0.0 0.0 0.0 1.1
0.0 0.6 0.0 0.0 0.6 0.0 0.0 0.0 0.6
295.1 6.6 0.0 0.0 301.7 0.0 0.0 0.0 301.7




